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PHYSICS
01. If the magnitude of the gravitational force between two particle of masses m and 2m is F, that between

two identical particles each of mass 2m and double the separation is
m +ÉÊhÉ 2m ´ÉºiÉÖ̈ ÉÉxÉÉSªÉÉ nùÉäxÉ {ÉnùÉlÉÉÇ̈ ÉvÉÒ±É MÉȪ ûi´ÉÉEò¹ÉÇhÉ ¤É±ÉÉSÉä {ÉÊ®ú¨ÉÉhÉ F +ºÉä±É iÉ®ú |ÉiªÉäEòÒ 2m ´ÉºiÉÖ̈ ÉÉxÉÉSÉä nùÉäxÉ BEòºÉÉ®úJÉä
{ÉnùÉlÉÇ BEò¨ÉäEòÉ{ÉÉºÉÖxÉ nÖù{{É]õ +ÆiÉ®úÉ´É®ú ä̀ö´É±Éä +ºÉiÉÉ iªÉÉÆSªÉÉ¨ÉvªÉä ÊEòiÉÒ ¤É±É +ºÉä±É.
a) 8F b) 4F c) F/2 d) F/4

02. The weight of a particle at the centre of the Earth is
{ÉÞl´ÉÒSªÉÉ EåòpùºlÉÉxÉÒ ä̀ö´É±Éä±ªÉÉ {ÉnùÉlÉÉÇSÉä ´ÉVÉxÉ ............ +ºÉä±É.
a) infinite b) Zero
a) +xÉÆiÉ b) ¶ÉÖxªÉ
c) Same as that at other places d) greater than at the poles
c) {ÉÞl´ÉÒSªÉÉ {ÉÞ¹`ö¦ÉÉMÉÉ´É®úÒ±É ´ÉVÉxÉÉ<iÉEäò d) wÉÖ́ ÉÉ´É®úÒ±É ´ÉVÉxÉÉ{ÉäIÉÉ +ÊvÉEò

03. An Earth-like planet has a mass 6 times and radius twice that of the Earth. If the escape speed of a body
at rest on the Earth`s surface is e , that from the planet is
{ÉÞl´ÉÒºÉÉ®úJªÉÉ BEòÉ OÉ½þÉSÉä ´ÉºiÉÖ̈ ÉÉxÉ {ÉÞl´ÉÒSªÉÉ ´ÉºiÉÖ̈ ÉÉxÉÉSªÉÉ 6 {É]õ +ÉÊhÉ ÊjÉVªÉÉ {ÉÞl´ÉÒSªÉÉ ÊjÉVÉäSªÉÉ nÖù{{É]õ +É½äþ. {ÉÞl´ÉÒ´É¯ûxÉ {ÉnùÉlÉÉÇSÉÉ
Ê´É¨ÉÖCiÉ ´ÉäMÉ e  +ºÉä±É iÉ®ú iªÉÉ OÉ½þÉ´É¯ûxÉ iÉÉä .......... +ºÉä±É.

a) e2 b) e3 c) e2  d) e3 

04. A satellite is an orbit of radius r has a period T. In an orbit of radius 
r
4 , its period of revolution will be

BEòÉ ={ÉOÉ½þÉSÉÉ r ÊjÉVªÉäSªÉÉ EòIÉäiÉ Ê¡ò®úiÉÉxÉÉ {É®úÒ´É±ÉxÉ EòÉ³ý T +É½äþ. VÉ®ú iÉÉä ={ÉOÉ½þ 
r
4  ÊjÉVªÉäSªÉÉ EòIÉäiÉ Ê¡ò®úiÉ +ºÉä±É iÉ®ú iªÉÉSÉÉ

{É®úÒ´É±ÉxÉ EòÉ³ý ÊEòiÉÒ ªÉä<Ç±É.

a)
1 T
4 b)

1 T
8 c)

1 T
16 d)

1 T
64
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05. If a packet is released from a balloon ascending vertically with a speed of 20 m/s. The packet reaches
the ground in 16 seconds, then the height of the balloon at the time the packet was released.
[g = 10 m/s2]
20 ¨ÉÒ]õ®ú/ºÉåEònù ´ÉäMÉÉxÉä ´É®ú VÉÉhÉÉ­ªÉÉ ¡ÖòMªÉÉiÉÚxÉ BEò {ÉìEäò]õ ºÉÉäb÷±Éä +É½äþ. VÉ®ú {ÉìEäò]õ 19 ºÉäEÆònùÉiÉ VÉÊ¨ÉxÉÒ´É®ú {ÉÉä½þÉäSÉiÉ +ºÉä±É, iÉ®ú {ÉìEäò]õ
ºÉÉäb÷±ªÉÉSªÉÉ ´Éä³ýÒ ¡ÖòMªÉÉSÉÒ VÉÊ¨ÉxÉÒ{ÉÉºÉÚxÉ =ÆSÉÒ ÊEòiÉÒ ½þÉäiÉÒ ? [g = 10 m/s2]
a) 960 m b) 480 m c) 320 m d) 1600 m

06. You are given four bulbs of 25 W, 40 W, 60 W and 100 W of power, all operating at 230 V. Which of
them has the lowest resistance ?
iÉÖ̈ ½þÉ±ÉÉ 25 W, 40 W, 60 W +ÉÊhÉ 100 W ¶ÉCiÉÒSÉä SÉÉ®ú ¤É±¤É Ênù±Éä +ºÉÖxÉ, ºÉ´ÉÇ ¤É±¤É 230 V ´É®ú EòÉªÉÇ®úiÉ +É½äþiÉ. iÉ®ú iªÉÉ{ÉèEòÒ
EòÉähÉiªÉÉ ¤É±¤ÉSÉÉ ®úÉävÉ ºÉ´ÉÉÇiÉ Eò¨ÉÒ +ºÉä±É ?
a) 25 W b) 40 W c) 60 W d) 100 W

07. The heating element connected to 230 V draws a current of 5 A, the amount of heat dissipated in 1 hour
is [J = 4.2 J/cal]
=¹hÉiÉÉ ÊxÉ¨ÉÉÇhÉ Eò®úhÉÉ®äú BEò ={ÉEò®úhÉ 230 V ¶ÉÒ VÉÉäb÷±Éä +ºÉiÉÉ, iªÉÉ ={ÉEò®úhÉÉiÉÚxÉ 5A Ê´ÉtÖiÉ vÉÉ®úÉ 1 iÉÉºÉ ´ÉÉ½þiÉä. iÉ®ú ÊxÉ¨ÉÉÇhÉ
ZÉÉ±Éä±ªÉÉ =¹hÉiÉäSÉä |É¨ÉÉhÉ ÊEòiÉÒ ?
a) 985.7 kcal b) 9.857 kcal c) 98.57 kcal d) 9857 kcal

08. The induced current in the electrical conductor (coil) be maximum, when the direction of motion of the
electric conductor is ..........
Ê´ÉtÖiÉ ´ÉÉ½þEòÉ¨ÉvÉÚxÉ (EòÉì<Ç±É) |ÉäÊ®úiÉ Ê´ÉtÚiÉ |É´ÉÉ½þ VÉÉºiÉÒiÉ VÉÉºiÉ ´ÉÉ½þhªÉÉºÉÉ`öÒ ´ÉÉ½þEòÉSªÉÉ MÉiÉÒSÉÒ Ênù¶ÉÉ ......... +ºÉÉ´ÉÒ ±ÉÉMÉiÉä.
a) 0° b) 90° c) 30° d) 60°

09. The rule for finding out the direction of the magnetic field produced by a current flowing through an
electrical conductor is ............
Ê´ÉtÖiÉ ´ÉÉ½þEòÉ¨ÉvÉÚxÉ ´ÉÉ½þhÉÉ­ªÉÉ Ê´ÉtÖiÉ |É´ÉÉ½þÉ¨ÉÖ³äý ´ÉÉ½þEòÉ¦ÉÉä́ ÉiÉÒ ÊxÉ¨ÉÉÇhÉ ½þÉähÉÉ­ªÉÉ SÉÖÆ¤ÉEòÒªÉ IÉäjÉÉSÉÒ Ênù¶ÉÉ ¶ÉÉävÉhªÉÉSÉÉ ÊxÉªÉ¨É .........
ªÉÉÆxÉÒ ¨ÉÉÆb÷±ÉÉ +É½äþ.
a) Maxwell’s cork - screw rule b) Flemings left hand rule
a) ¨ÉìCºÉ´Éä±ÉSÉÉ EòÉìEÇò - ºGÚò ÊxÉªÉ¨É b) }±ÉäË¨ÉMÉSÉÉ b÷É´ªÉÉ ½þÉiÉÉSÉÉ ÊxÉªÉ¨É
c) Flemings right hand rule d) Left hand thumb rule
c) }±ÉäË¨ÉMÉSÉÉ =VÉ´ªÉÉ ½þÉiÉÉSÉÉ ÊxÉªÉ¨É d) b÷É´ªÉÉ ½þÉiÉÉSªÉÉ +ÆMÉ`ö¬ÉSÉÉ ÊxÉªÉ¨É
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10. In India, in the power stations generating electricity, the frequency of AC is
¦ÉÉ®úiÉÉiÉ, ´ÉÒVÉ ÊxÉÌ¨ÉiÉÒ Eò®úhÉÉ­ªÉÉ ´ÉÒVÉ EåòpùÉÆ̈ ÉvªÉä iÉªÉÉ®ú ½þÉähÉÉ­ªÉÉ (AC) Ê´ÉtÖiÉ vÉÉ®äúSÉÒ ´ÉÉ®Æú´ÉÉ®úiÉÉ ÊEòiÉÒ +ºÉiÉä.
a) 25 Hz b) 100 Hz c) 50 Hz d) 75 Hz

11. A glass bottle completely filled with water cracks when kept in the freezer because
{ÉÉhªÉÉxÉä {ÉÚhÉÇ{ÉhÉä ¦É®ú±Éä±ÉÒ EòÉSÉäSÉÒ ¤ÉÉ]õ±ÉÒ ¶ÉÒiÉ Eò{ÉÉ]õÉiÉ (£òÒVÉ®ú) ä̀ö´É±ÉÒ +ºÉiÉÉ ÊiÉ±ÉÉ iÉbä÷ VÉÉiÉÉiÉ EòÉ®úhÉ ..........
a) the bottle remains as it is b) the bottle expands
a) ¤ÉÉ]õ±ÉÒ VÉ¶ÉÒSªÉÉiÉ¶ÉÒ ®úÉ½þiÉä b) ¤ÉÉ]õ±ÉÒ |ÉºÉ®úhÉ {ÉÉ´ÉiÉä
c) Water expands on freezing d) water contracts on freezing
c) MÉÉä̀ ö±ªÉÉ´É®ú {ÉÉhÉÒ |ÉºÉ®úhÉ {ÉÉ´ÉiÉä d) MÉÉä̀ ö±ªÉÉ´É®ú {ÉÉhÉÒ +ÉEÖÆòSÉxÉ {ÉÉ´ÉiÉä

12. Specific heat capacity is expressed in
Ê´ÉÊ¶É¹]õ =¹¨ÉÉvÉÉ®úEòiÉÉ ........... ªÉÉ BEòEòÉ¨ÉvªÉä ´ªÉCiÉ Eäò±ÉÒ VÉÉiÉä.
a) J/kg °C b) J/kg c) kg/J d) kg/J °C

13. The heat energy is necersary to raise the temperature of 10 kg of water from 20°C to 100°C is .........
(Given : Specific Heat of water is 1 cal/g°C)
10 ÊEò±ÉÉä {ÉÉhªÉÉSÉä iÉÉ{É¨ÉÉxÉ 20°C {ÉÉºÉÚxÉ 100°C {ÉªÉÈiÉ ´ÉÉfø´ÉhªÉÉºÉÉ`öÒ .......... =¹hÉiÉäSÉÒ +É´É¶ªÉEòiÉÉ +ºÉiÉä.
({ÉÉhªÉÉSÉÉ Ê´ÉÊ¶É¹]õ =¹¨ÉÉ = 1 cal/g°C)
a) 400 kcal b) 200 kcal c) 80 kcal d) 800 kcal

14. At 4°C, the volume and density of water is ..........
4°C iÉÉ{É¨ÉÉxÉÉºÉ {ÉÉhªÉÉSÉä +ÉEòÉ®ú¨ÉÉxÉ +ÉÊhÉ PÉxÉiÉÉ ......... ´É .......... +ºÉä±É.
a) minimum, maximum b) maximum, minimum c) minimum, same d) both remains same
a) ÊEò¨ÉÉxÉ, Eò¨ÉÉ±É b) Eò¨ÉÉ±É, ÊEò¨ÉÉxÉ c) ÊEò¨ÉÉxÉ, ÎºlÉ®ú d) nùÉäx½þÒ ÎºlÉ®ú ®úÉ½þiÉä

15. The specific latent heat of varporization of water is 2.26 × 106  J/kg, the energy needed to change 5.0 g
of water into steam at 100°C.
{ÉÉhªÉÉSÉÉ ¤ÉÉ¹{ÉxÉÉSÉÉ +|ÉEò]õ =¹¨ÉÉ 2.26 × 106  J/kg +É½äþ, iÉ®ú 5.0 g {ÉÉhªÉÉSÉä 100°C iÉÉ{É¨ÉÉxÉÉSªÉÉ ´ÉÉ¡äòiÉ ¯û{ÉÉÆiÉ®ú Eò®úhªÉÉºÉÉ`öÒ
ÊEòiÉÒ =¹hÉiÉÉ ±ÉÉMÉä±É ?
a) 1.13 × 103 J b) 11.3 × 103 J c) 113 × 103 J d) 113 × 104 J
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16. The refractive index of water relative to air is 4/3. A ray of light passing from water into air is incident
at the interface at an angle of 35° to the normal. The angle made by refracted ray with the normal is
..........
½þ´ÉäSªÉÉ ºÉÉ{ÉäIÉ {ÉÉhªÉÉSÉÉ +{É´ÉiÉÇxÉÉÆEò 4/3 +É½äþ. BEò |ÉEòÉ¶ÉÊEò®úhÉ ½þ´ÉäiÉÚxÉ {ÉÉhªÉÉiÉ VÉÉiÉÉxÉÉ ºiÉÆÊ¦ÉEäò¶ÉÒ 35° +{ÉÉiÉÒ EòÉäxÉ Eò®úiÉÉä, iÉ®ú
+{É´ÉÌiÉiÉ ÊEò®úhÉÉxÉÒ ºiÉÆÊ¦ÉEäò¶ÉÒ Eäò±Éä±ÉÉ EòÉäxÉ ÊEòiÉÒ ?
a) sin–1 (0.7648) b) sin–1 (7.648) c) sin–1 (0.6748) d) sin–1 (0.8764)

17. The following figure shows the path of a ray of light as it passes from air into a liquid. The refractive
index of the liquid is
½þ´ÉäiÉÚxÉ pù´ÉÉiÉ VÉÉhÉÉ­ªÉÉ |ÉEòÉ¶ÉÊEò®úhÉÉÆSÉÉ ¨ÉÉMÉÇ +ÉEÞòiÉÒiÉ nù¶ÉḈ É±ªÉÉ|É¨ÉÉhÉä +É½äþ. iÉ®ú pù´ÉÉSÉÉ +{É´ÉiÉÇxÉÉÆEò ÊEòiÉÒ +ºÉä±É ?

a)
3
2 b)

6
2

c)
2
2 d)

3
2

18. The absolute refractive index of flint glass is 5/3 and that of water is 4/3. The refractive index of flint
glass with respect to water is ..........
Ê¡òCEò]õ EòÉSÉäSÉÉ +ÉÊhÉ {ÉÉhªÉÉSÉÉ ÊxÉ®ú{ÉäIÉ +{É´ÉiÉÇxÉÉÆEò +xÉÖGò¨Éä 5/3 +ÉÊhÉ 4/3 +ºÉÉ +É½äþ, iÉ®ú Ê¡òCEò]õ EòÉSÉäSÉÉ {ÉÉhªÉÉSªÉÉ ºÉÉ{ÉäIÉ
+{É´ÉiÉÇxÉÉÆEò ÊEòiÉÒ +ºÉä±É ?

a)
4
5 b)

12
15 c)

20
9 d)

5
4

19. A ray of light is incident at an angle of 50° with the surface of glass of refractive index 1.5, the deviation
of the ray when it enters glass is  (Given sin–1 (0.4285) = 25°22’ & sin 40° = 0.6428)
1.5 +{É´ÉiÉÇxÉÉÆEò +ºÉ±Éä±ªÉÉ EòÉSÉäSªÉÉ {ÉÞ¹`ö¦ÉÉMÉÉ´É®ú BEò |ÉEòÉ¶ÉÊEò®úhÉ {ÉÞ¹`ö¦ÉÉMÉÉ¶ÉÒ 50° EòÉäxÉ Eò¯ûxÉ ]õÉEò±ÉÉ +É½äþ, iÉ®ú |ÉEòÉ¶ÉÊEò®úhÉÉÆSÉÉ
EòÉSÉäiÉÒ±É Ê´ÉSÉ±ÉxÉ EòÉäxÉ ÊEòiÉÒ +ºÉä±É ?
a) 34°38’ b) 14°38’ c) 4°38’ d) 8°38’
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20. The critical angle for Zircon (n = 2), placed in air.
½þ´ÉäiÉ ä̀ö´É±Éä±ªÉÉ ÊZÉ®úEòÉìxÉ (n = 2) ªÉÉ {ÉnùÉlÉÉÇºÉÉ`öÒ Ê´ÉÊ¶É¹]õ EòÉäxÉ ÊEòiÉÒ ?
a) 60° b) 90° c) 30° d) 45°

21. A concave lens of focal length 15 cm forms an image 10 cm from the lens. How far is the object placed
from the lens ?
15 ºÉä̈ ÉÒ xÉÉ¦ÉÒªÉ +ÆiÉ®ú +ºÉ±Éä±ªÉÉ +ÆiÉ®ú´ÉGò Ë¦ÉMÉÉ{ÉÉºÉÚxÉ 10 ºÉä̈ ÉÒ +ÆiÉ®úÉ´É®ú BEòÉ ´ÉºiÉÖSÉÒ |ÉÊiÉ¨ÉÉ iÉªÉÉ®ú ½þÉäiÉä, iÉ®ú Ë¦ÉMÉÉ{ÉÉºÉÚxÉ ´ÉºiÉÚ
ÊEòiÉÒ +ÆiÉ®úÉ´É®ú ä̀ö´É±ÉÒ +É½äþ ?
a) 30 cm b) 10 cm c) 20 cm d) 15 cm

22. Two thin lenses of powers +3.5 D and –2.5 D are placed in contact. The power and focal length of the
lens combination are
nùÉäxÉ {ÉÉiÉ³ý Ë¦ÉMÉÉÆSÉÒ Ë¦ÉMÉ ¶ÉCiÉÒ +xÉÖGò¨Éä +3.5 D +ÉÊhÉ –2.5 D +É½äþ. iÉÒ Ë¦ÉMÉä BEò¨ÉäEòÉ±ÉÉ º{É¶ÉÇ Eò¯ûxÉ ä̀ö´É±ÉÒ +ºÉiÉÉ iªÉÉÆSÉÒ
BEòÊjÉiÉ Ë¦ÉMÉ ¶ÉCiÉÒ ´É xÉÉ¦ÉÒªÉ +ÆiÉ®ú ÊEòiÉÒ ?
a) + 1 D, 1 cm b) –1 D, 1 m c) –1 D, 1 cm d) +1 D, 1m

23. If an object 5 cm high is held 25 cm away from a converging lens of focal length 10 cm, then the size
and the nature of the image formed is
VÉ®ú 5 ºÉä̈ ÉÒ >ÆðSÉÒ +ºÉhÉÉ®úÒ BEò ´ÉºiÉÖ 10 ºÉä̈ ÉÒ xÉÉ¦ÉÒªÉ +ÆiÉ®ú +ºÉ±Éä±ªÉÉ ¤ÉÊ½þ´ÉÇGò Ë¦ÉMÉÉ{ÉÉºÉÚxÉ 25 ºÉä̈ ÉÒ +ÆiÉ®úÉ´É®ú ä̀ö´É±ÉÒ +ºÉä±É, iÉ®ú
iÉªÉÉ®ú ½þÉähÉÉ­ªÉÉ |ÉÊiÉ¨ÉäSÉÒ =ÆSÉÒ +ÉÊhÉ º´É¯û{É EòÉªÉ +ºÉä±É ?
a) 3.34 cm, inverted b) 4.33 cm, inverted c) 3.43 cm, inverted d) 3.34 erect.
a) 3.34 cm, =±É]õ b) 4.33 cm, =±É]õ c) 3.43 cm, =±É]õ d) 3.34  ºÉÖ±É]õ

24. Optical instruments, in general, extend our range of vision by .........
.......... ¨ÉÖ³äý |ÉEòÉ¶ÉÒªÉ ={ÉEò®úhÉä, ºÉ´ÉÇºÉÉvÉÉ®úhÉ{ÉhÉä +É{É±ªÉÉ ºÉÖº{É¹]õ où¹]õÒSÉä +ÆiÉ®ú ´ÉÉfø´ÉiÉÉiÉ.
a) making the incident rays subtend a smaller angle at the eye
a) +É{ÉÉiÉÒ ÊEò®úhÉ b÷Éä²ªÉÉÆºÉÉä¤ÉiÉ ±É½þÉxÉ EòÉäxÉ iÉªÉÉ®ú Eäò±ªÉÉxÉä
b) making the incident rays subtend a larger angle at the eye
b) +É{ÉÉiÉÒ ÊEò®úhÉ b÷Éä²ªÉÉÆºÉÉä¤ÉiÉ ¨ÉÉä̀ öÉ EòÉäxÉ iÉªÉÉ®ú Eäò±ªÉÉxÉä
c) producing an inverted image
c) =±É]õ |ÉÊiÉ¨ÉÉ ÊxÉ¨ÉÉÇhÉ Eäò±ªÉÉxÉä
d) correcting our defects of vision
d) +É{É±ªÉÉ où¹]õÒiÉÒ±É nùÉä¹É ºÉÖvÉÉ®ú Eäò±ªÉÉxÉä
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25. The R.I. of glass with respect to water is 9/8. The speed of light in water is 2.25 × 108 m/s, its speed in
glass will be
EòÉSÉäSÉÉ {ÉÉhªÉÉSªÉÉ ºÉÉ{ÉäIÉ +{É´ÉiÉÇxÉÉÆEò 9/8 +É½äþ. |ÉEòÉ¶ÉÉSÉÉ {ÉÉhªÉÉiÉÒ±É ´ÉäMÉ 2.25 × 108 m/s +É½äþ, iÉ®ú EòÉSÉä̈ ÉvªÉä |ÉEòÉ¶ÉÉSÉÉ ´ÉäMÉ
ÊEòiÉÒ?
a) 3 × 108 m/s b) 2 × 108 m/s c) 1.8 × 108 m/s d) 1 × 108 m/s

26. As we move from the equator of the Earth to the poles, the weight of a body
VÉ®ú +É{ÉhÉ {ÉÞl´ÉÒSªÉÉ Ê´É¹ÉÖ́ É´ÉÞkÉÉEòbÚ÷xÉ wÉÖ́ ÉÉEòbä÷ VÉÉiÉ +ºÉÚ iÉ®ú +É{É±Éä ´ÉVÉxÉ .......... ½þÉäiÉä.
a) remains the same b) becomes zero c) decreases d) increases
a) EòÉªÉ¨É ®úÉ½þiÉä b) ¶ÉÖxªÉ ½þÉäiÉä c) PÉ]õiÉä d) ´ÉÉføiÉä

27. The ratio of periods of revolution of two satellites is 8 : 1. The ratio of their critical orbital speeds is
nùÉäxÉ ={ÉOÉ½þÉSªÉÉ {ÉÊ®ú´É±ÉxÉ EòÉ³ýÉSÉä MÉÖhÉÉäkÉ®ú 8 : 1 +É½äþ, iÉ®ú iªÉÉÆSªÉÉ Ê´ÉÊ¶É¹]õ EòIÉÒªÉ MÉiÉÒSÉä MÉÖhÉÉäkÉ®ú ÊEòiÉÒ +ºÉä±É ?
a) 1 : 8 b) 1 : 4 c) 1 : 2 d) 2 : 1

28. The distance between the centres of the Earth and Moon is 60 RE, where RE = 6400 km is the radius of
the Earth. Taking g = 10 m/s2, the approximate orbital speed of the Moon is
{ÉÞl´ÉÒ +ÉÊhÉ SÉÆpù ªÉÉ¨ÉvÉÒ±É +ÆiÉ®ú 60RE (RE = 6400 km) +É½äþ, VÉ®ú g = 10 m/s2 PÉäiÉ±Éä iÉ®ú SÉÆpùÉSÉÒ EòIÉÒªÉ MÉiÉÒ VÉ´É³ý{ÉÉºÉ .........
+ºÉä±É?
a) 1 km/s b) 4 km/s c) 8 km/s d) 11.2 km/s

29. The kinetic energy of an artificial satellite of mass 2000 kg orbiting at a height of 3600 km above the
surface of the earth is ..........
{ÉÞl´ÉÒ{ÉÉºÉÚxÉ 3600 km =ÆSÉÒ´É®ú Ê¡ò®úiÉ +ºÉ±Éä±ªÉÉ 2000 kg ´ÉºiÉÖ̈ ÉÉxÉÉSªÉÉ EÞòÊjÉ¨É ={ÉOÉ½þÉSÉÒ MÉÊiÉVÉ >ðVÉÉÇ ............ +ºÉä±É.
a) 8.002 × 1010 J b) 4.002 × 108 J c) 4.002 × 1010 J d) 8.002 × 108 J

30. The distances of two planets from the Sun are 1013 m and 1012 m, respectively. The ratio of the time
periods and orbital speeds of the two planets are
ºÉÚªÉÉÇ{ÉÉºÉÚxÉ nùÉäxÉ OÉ½þÉSÉä +ÆiÉ®ú +xÉÖGò¨Éä 1013 m ´É 1012 m +É½äþ, iÉ®ú iªÉÉ nùÉäxÉ OÉ½þÉSªÉÉ {ÉÊ®ú´É±ÉxÉ EòÉ³ýÉSÉä MÉÖhÉÉäkÉ®ú ÊEòiÉÒ +ºÉä±É.

a)
2
310 b) 103 c) 102 d)

3
210
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31. The reaction in which two compounds exchanges their ions to form two different compounds is known
as
VªÉÉ +Ê¦ÉÊGòªÉÉ¨ÉvªÉä nùÉäxÉ ºÉÆªÉÖMÉä iªÉÉÆSªÉÉ +ÉªÉxÉÉÆSÉÒ näù´ÉÉhÉPÉä́ ÉÉhÉ Eò¯ûxÉ nùÉäxÉ Ê¦ÉzÉ ºÉÆªÉÖMÉä iÉªÉÉ®ú Eò®úiÉÉiÉ iÉÒ |ÉÊiÉÊGòªÉÉ ¨½þhÉÚxÉ YÉÉiÉ +É½äþ.

a) Displacement Reaction b) Reduction reaction
a) Ê´ÉºlÉÉ{ÉxÉ |ÉÊiÉÊEòªÉÉ b) PÉ]õ |ÉÊiÉÊGòªÉÉ
c) Substitution reaction d) Double displacement reaction
c) |ÉÊiÉºlÉÉ{ÉxÉ |ÉÊiÉÊGòªÉÉ d) nÖù½äþ®úÒ Ê´ÉºlÉÉ{ÉxÉ |ÉÊiÉÊEòªÉÉ

32. The process of coating iron with zinc is called as
±ÉÉäJÉÆb÷É±ÉÉ ËZÉEòxÉä ±Éä{É Eò®úhªÉÉSªÉÉ |ÉÊGòªÉä±ÉÉ ......... +ºÉä ¨½þhÉiÉÉiÉ.

a) Reduction b) Galvanisation c) electroplating d) Polishing
a) Ê®úb÷C¶ÉxÉ b) MÉì±´ÉxÉÉªÉZÉä¶ÉxÉ c) <±ÉäC]ÅõÉä{±ÉäË]õMÉ d) {ÉÉìÊ±ÉË¶ÉMÉ

33. Oxidation reaction involves
+ÉìÎCºÉbä÷¶ÉxÉ |ÉÊiÉÊEòªÉÉ Eò¶ÉÉ¨ÉvªÉä ºÉ¨ÉÉÊ´É¹]õ +É½äþ.

a) Decrease in the valence of positive part b) Increase in the valence of negative part
a) ºÉEòÉ®úÉi¨ÉEò ¦ÉÉMÉÉSÉÉ ºÉÆªÉÉäVÉÒiÉ PÉ]õ b) @ñhÉ ¦ÉÉMÉÉSÉÉ ºÉÆªÉÉäVÉÒiÉ ´ÉÉfø
c) Gain of electrons d) Loss of electrons
c) <±ÉäC]ÅõÉìxÉSÉÒ ´ÉÉfø d) <±ÉäC]ÅõÉìxÉSÉä xÉÖEòºÉÉxÉ

34. Which of the following is a combustion reaction ?
JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiÉÒ V´É±ÉxÉ |ÉÊiÉÊGòªÉÉ +É½äþ ?

a) Rusting of iron b) Melting of iron c) Burning of petrol d) Boiling of water
a) ±ÉÉä½þ MÉÆVÉhÉä b) ±ÉÉäJÉÆb÷ Ê´ÉiÉ³ýhÉä c) {Éä]ÅõÉä±É VÉ³ýhÉä d) {ÉÉhÉÒ =Eò³ýhÉä

35. Which of the following metal is protected by the formation of a layer of its oxide ?
JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiÉÉ vÉÉiÉÚ iªÉÉSªÉÉ{ÉÉºÉÚxÉ iÉªÉÉ®ú ½þÉähÉÉ­ªÉÉ +ÉìCºÉÉ<Çb÷SªÉÉ lÉ®úÉ¨ÉÖ³äý ºÉÆ®úÊIÉiÉ ½þÉäiÉÉä.

a) Au b) Al c) Cu d) Fe

CHEMISTRY
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36. Removal of impurities from ore is known as
+ªÉºEòÉiÉÒ±É +¶ÉÖrùiÉÉ EòÉføhªÉÉSªÉÉ |ÉÊGòªÉä±ÉÉ EòÉªÉ ¨½þhÉiÉÉiÉ.

a) Calcination b) Roasting c) Crushing and grinding d) Concentration of ore
a) EìòÎ±ºÉxÉä¶ÉxÉ b) ¦ÉÉVÉhÉä c) GòË¶ÉMÉ +ÉÊhÉ OÉÉ<ÆËb÷MÉ d) vÉÉiÉÚSÉä |É¨ÉÉhÉ

37. Which one of the following metal is found in liquid state at room temperature ?
JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiÉÉ vÉÉiÉÚ JÉÉä±ÉÒSªÉÉ iÉÉ{É¨ÉÉxÉÉiÉ pù´É +´ÉºlÉäiÉ +Éfø³ýiÉÉä ?

a) Fe b) Na c) Cr d) Hg
38. Which one of the following metal oxides shows both acidic and basic characters ?

JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiÉÉ vÉÉiÉÚSÉÉ +ÉìCºÉÉ<Çb÷ +É¨±ÉÒªÉ +ÉÊhÉ ¨ÉÚ±É¦ÉÚiÉ nùÉäx½þÒ ´ÉhÉÇ nù¶ÉḈ ÉiÉÉä ?

a) Al2O3 b) CuO c) Na2O d) K2O
39. The d-block elements are placed from groups

+É´ÉiÉÇ ºÉÉ®úhÉÒSªÉÉ b÷Ò-¤±ÉÉìEò PÉ]õEòÉ¨ÉvªÉä EòÉähÉiÉä MÉ]õ ä̀ö´É±Éä +É½äþiÉ ?

a) 13 to 18 b) 4 to 12 c) 3 to 12 d) 1 to 2
40. Which element is more electronegative among halogens ?

½ìþ±ÉÉäVÉxÉ¨ÉvªÉä EòÉähÉiÉÉ PÉ]õEò +ÊvÉEò <±ÉäC]ÅõÉäxÉäMÉäÊ]ṍ ½þ +É½äþ ?

a) Cl b) F c) Br d) I
41. Which of the following element has the smallest atomic size ?

JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiªÉÉ PÉ]õEòÉSÉÉ +hÉÖ +ÉEòÉ®ú ºÉ´ÉÉÇiÉ ±É½þÉxÉ +É½äþ ?

a) Ar b) Si c) Cl d) Na
42. The total number of elements present in the 6th period is ........

+É´ÉiÉÇ ºÉÉ®úhÉÒiÉ ºÉ½þÉ´ªÉÉ EòÉ±ÉÉ´ÉvÉÒ¨ÉvªÉä BEÚòhÉ ÊEòiÉÒ PÉ]õEò +É½äþiÉ ?

a) 32 b) 36 c) 18 d) 14
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43. IUPAC name of the compound  CH  – C – CH  – CHO3 2

CH3

CH3

 (ªÉÉ ºÉÆªÉÖMÉÉSÉä IUPAC xÉÉ´É EòÉªÉ +É½äþ.)

a) 3, 3 – dimethyl butanal b) 1, 1 – dimethyl butanal
a) 3, 3 – b÷ÉªÉÊ¨ÉlÉÉ<±É ¤ªÉÖ]äõxÉÉ±É b) 1, 1 – b÷ÉªÉÊ¨ÉlÉÉ<±É ¤ªÉÖ]äõxÉÉ±É
c) 2, 2 – dimethyl butanal d) 3, 3, 3 – dimethyl propanal
c) 2, 2 – b÷ÉªÉÊ¨ÉlÉÉ<±É ¤ªÉÖ]äõxÉÉ±É d) 3, 3, 3 – b÷ÉªÉÊ¨ÉlÉÉ<±É |ÉÉä{ÉäxÉÉ±É

44. Oils on treating with hydrogen in the presence of palladium or nickel catalyst forms fats. This is an
example of
{Éì±ÉäÊb÷ªÉ¨É ËEò´ÉÉ ÊxÉEäò±É =i|Éä®úEòÉÆSªÉÉ ={ÉÎºlÉiÉÒiÉ ½þÉªÉbÅ÷ÉäVÉxÉºÉ½þ ={ÉSÉÉ®ú Eäò±ªÉÉ´É®ú iÉä±ÉÉ{ÉÉºÉÚxÉ SÉ®ú¤ÉÒ iÉªÉÉ®ú ½þÉäiÉä. iªÉÉ ÊGòªÉäºÉ EòÉªÉ
¨½þhÉiÉÉiÉ.

a) Substitution b) Oxidation c) Displacement d) Addition
a) ºÉ¤ºÉÊ]õ]õ¬Ö¶ÉxÉ b) +ÉìCºÉÒEò®úhÉ c) Ê´ÉºlÉÉ{ÉxÉ d) VÉÉäb÷hÉä

45. Which of the following compounds cannot exhibit chain isomerism ?
JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiÉä ºÉÆªÉÖMÉä SÉäxÉ +ÉªÉºÉÉä̈ ÉäÊ®úZÉ¨É |ÉnùÌ¶ÉiÉ Eò¯û ¶ÉEòiÉ xÉÉ½þÒiÉ ?

a) Propane b) Pentane c) Hexane d) Butane
a) |ÉÉä{ÉäxÉ b) {Éå]ìõxÉ c) ½äþCºÉäxÉ d) ¤ªÉÖ]äõxÉ

46. Which of the following is not a saturated hydrocarbon ?
JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiÉÉ ºÉÆiÉÞ{iÉ ½þÉªÉbÅ÷ÉäEòÉ¤ÉÇxÉ xÉÉ½þÒ ?

a) Butane b) Cyclohexane c) Isobutane d) Benzene
a) ¤ªÉÖ]äõxÉ b) ºÉÉªÉC±ÉÉä½äþCºÉäxÉ c) +ÉªÉºÉÉä¤ªÉÖ]äõxÉ d) ¤ÉåÊZÉxÉ

47. The type of medicine used to treat acidity in stomach is ........
{ÉÉä]õÉiÉÒ±É +É¨±ÉÊ{ÉkÉÉ´É®ú ={ÉSÉÉ®ú Eò®úhªÉÉºÉÉ`öÒ EòÉähÉiªÉÉ +Éè¹ÉvÉÉSÉÉ ´ÉÉ{É®ú Eäò±ÉÉ VÉÉiÉÉä.

a) Antibiotic b) Antacid c) Antihistamine d) Sulpha drug
a) |ÉÊiÉVÉèÊ´ÉEò b) +Ä]õÊºÉb÷ c) +Ä]õÒÊ½þº]õÉ¨ÉÉ<xÉ d) ºÉ±¡òÉ +Éè¹ÉvÉ
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48. The acid used as dehydrating agent is
ÊxÉVÉÇ±ÉÒEò®úhÉ BVÉÆ]õ ¨½þhÉÚxÉ ´ÉÉ{É®ú±Éä VÉÉhÉÉ®äú BìÊºÉb÷ EòÉähÉiÉä +É½äþ.
a) H2SO4 b) HBr c) HI d) HNO3

49. If pH of solution is 13, it means that it is ........
VÉ®ú pùÉ´ÉhÉÉSÉÉ pH 13 +ºÉä±É iÉ®ú, iªÉÉSÉÉ +lÉÇ +ºÉÉ ½þÉäiÉÉä EòÒ iÉä ........
a) Strongly acidic b) Weakly acidic c) Strongly basic d) Weakly basic
a) VÉÉä®únùÉ®ú +É¨±ÉÒªÉ b) Eò¨ÉEÖò´ÉiÉ +É¨±ÉÒªÉ c) VÉÉä®únùÉ®ú ¨ÉÚ±É¦ÉÚiÉ d) Eò¨ÉEÖò´ÉiÉ ¨ÉÖ±É¦ÉÚiÉ

50. Limestone, chalk and marble are different forms of ........
SÉÖxÉJÉb÷Ò, JÉbÚ÷ +ÉÊhÉ ºÉÆMÉ¨É®ú´É®ú ½äþ ´ÉäMÉ³ýÒ ¯û{Éä EòÉähÉÉSÉÒ +É½äþiÉ.
a) Sodium carbonate b) Zinc carbonate
a) ºÉÉäÊb÷ªÉ¨É EòÉ¤ÉÉæxÉä]õ b) ËZÉEò EòÉ¤ÉÉæxÉä]õ
c) Sodium hydrogen carbonate d) Calcium carbonate
c) ºÉÉäÊb÷ªÉ¨É ½þÉªÉbÅ÷ÉäVÉxÉ EòÉ¤ÉÉæxÉä]õ d) EìòÎ±¶ÉªÉ¨É EòÉ¤ÉÉæxÉä]õ

51. The acid used for washing eyes is ............
b÷Éä³äý vÉÖhªÉÉºÉÉ`öÒ ´ÉÉ{É®ú±Éä VÉÉhÉÉ®äú BìÊºÉb÷ ............. +É½äþ.
a) Boric acid b) Carbonic acid c) Acetic acid d) Oxalic acid
a) ¤ÉÉäÊ®úEò BìÊºÉb÷ b) EòÉ¤ÉÉæÊxÉEò BìÊºÉb÷ c) BìÊºÉÊ]õEò BìÊºÉb÷ d) +ÉìCºÉìÊ±ÉEò BìÊºÉb÷

52. Basic salts are formed by neutralisation of
EòÉähÉiªÉÉ PÉ]õEòÉSªÉÉ iÉ]õºlÉÒEò®úhÉÉxÉä ¨ÉÚ±É¦ÉÚiÉ ±É´ÉhÉ iÉªÉÉ®ú ½þÉäiÉÉiÉ.
a) Strong acid and strong base b) Weak acid and weak base
a) ¨ÉVÉ¤ÉÚiÉ +É¨±É +ÉÊhÉ ¨ÉVÉ¤ÉÚiÉ ¤ÉäºÉ b) Eò¨ÉEÖò´ÉiÉ +É¨±É +ÉÊhÉ Eò¨ÉEÖò´ÉiÉ ¤ÉäºÉ
c) Strong base and weak acid d) Strong acid and weak base
c) ¨ÉVÉ¤ÉÚiÉ ¤ÉäºÉ +ÉÊhÉ Eò¨ÉEÖò´ÉiÉ +É¨±É d) ¨ÉVÉ¤ÉÚiÉ +É¨±É +ÉÊhÉ Eò¨ÉEÖò´ÉiÉ ¤ÉäºÉ

53. The reaction 2 5 2 5 22C H OH 2Na 2C H ONa H    suggest that ethanol is .........

2 5 2 5 22C H OH 2Na 2C H ONa H    ªÉÉ |ÉÊiÉÊGòªÉä̈ ÉvªÉä <lÉäxÉÉì±É EòÉªÉ +É½äþ +ºÉä ºÉÖSÉ´ÉiÉä.

a) Neutral in nature b) Acidic in nature c) Basic in nature d) Amphoteric in nature
a) =nùÉÊºÉxÉ b) +É¨±ÉÒªÉ c) +±Eò±ÉÒ d) B¨¡òÉä]äõÊ®úEò
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54. Ethanol is oxidised with alkaline KMnO4 to give
<lÉäxÉÉì±ÉSÉä IÉÉ®úÒªÉ KMnO4 ºÉ½þ +ÉìÎCºÉb÷ÒEò®úhÉ Eäò±Éä +ºÉiÉÉ |ÉÊiÉÊGòªÉä̈ ÉvªÉä EòÉªÉ Ê¨É³ýiÉä.

a) Ethanoic acid b) Methanoic acid c) Propanoic acid d) n – Butyric acid
a) <lÉìxÉÉä<Eò BìÊºÉb÷ b) Ê¨ÉlÉäxÉÉä<Eò BìÊºÉb÷ c) |ÉÉä{ÉìxÉÉä<Eò BìÊºÉb÷ d) ¤ªÉÖ]õÒÊ®úEò BìÊºÉb÷

55. 5f series elements are known as
+É´ÉiÉÇ ºÉÉ®úhÉÒiÉÒ±É 5f ¨ÉÉ±ÉÒEòÉ EòÉähÉiÉä PÉ]õEò ¨½þhÉÚxÉ +Éä³ýJÉ±Éä VÉÉiÉä.

a) Actinides b) Lanthanides
a) BìÎC]õxÉÉ<bÂ÷ºÉ b) ±ÉìxlÉÉxÉÉ<b÷ÂºÉ
c) Representative elements d) Transition elements
c) ºÉÆGò¨ÉhÉ PÉ]õEò d) |ÉÊiÉÊxÉvÉÒ PÉ]õEò

56. Which of the following elements has maximum metallic character ?
JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiªÉÉ ¨ÉÖ±Épù´ªÉÉ¨ÉvªÉä ºÉvÉÉiÉÚ PÉ]õEò VÉÉºiÉ +É½äþ ?
a) P b) N c) Li d) Na

57. Copper on exposure to air reacts with moisture and CO2 to form a green layer on the surface which is
chemically.
½þ´ÉäSªÉÉ ºÉÆ{ÉEòÉÇiÉ +É±ªÉÉ´É®ú iÉÉÆ¤Éä +Éä±ÉÉ´ÉÉ +ÉÊhÉ CO2 ´É®ú |ÉÊiÉGòªÉÉ näùiÉÉä, VªÉÉ¨ÉÖ³äý {ÉÞ¹`ö¦ÉÉMÉÉ´É®ú Ê½þ®ú´ÉÉ lÉ®ú Eò¶ÉÉ¨ÉÖ³äý iÉªÉÉ®ú ½þÉäiÉÉä.
a) Copper sulphate b) Copper nitrate
a) EòÉì{É® ºÉ±¡äò]õ b) EòÉì{É®ú xÉÉªÉ]Åäõ]õ
c) Basic copper carbonate d) Copper chloride
c) ¤ÉäÊºÉEò EòÉì{É®ú EòÉ¤ÉÉæxÉä]õ d) EòÉì{É®ú C±ÉÉä®úÉ<Çb÷

58. Which of the following are exothermic processes ?
JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiªÉÉ BCZÉÉälÉÌ¨ÉEò |ÉÊGòªÉÉ +É½äþiÉ ?

i) Reaction of water with quick lime ({ÉÉhªÉÉSÉÒ ´É SÉÖxªÉÉSÉÒ |ÉÊiÉÊGòªÉÉ)

ii) Dilution of an acid (+É¨±É {ÉÉiÉ³ý Eò®úhÉä)

iii) Evaporation of water ({ÉÉhªÉÉSÉä ¤ÉÉ¹{ÉÒ¦É´ÉxÉ)

iv) Sublimation of camphor (EòÉ{ÉÚ®úSÉä =nùÉkÉÒEò®úhÉ)
a) (i) & (ii) b) (ii) & (iii) c) (i) & (iv) d) (iii) & (iv)
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59. The products formed when zinc reacts with steam are
VÉºiÉÉ´É®ú ´ÉÉ¡äòSÉÒ ÊGòªÉÉ Eäò±ÉÒ +ºÉiÉÉ |ÉÊGòªÉäiÉ EòÉªÉ iÉªÉÉ®ú ½þÉäiÉä.

a) ZnH2 & O2 b) ZnO & H2 c) ZnO2 & O2 d) ZnO2 + H2

60. IUPAC name of CH3 – CO – CH3

CH3 – CO – CH3 SÉä IUPAC xÉÉ´É EòÉªÉ +É½äþ.

a) Propane b) Acetone c) Propanone d) Ethanal
a) |ÉÉä{ÉäxÉ b) +ìºÉÒ]õÉäxÉ c) |ÉÉä{ÉäxÉÉäxÉ d) <lÉäxÉ±É
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61. The richness of living organisms in nature due to presence of varieties of organisms, ecosystems is
called
Ê´ÉÊ´ÉvÉ |ÉEòÉ®úSÉä VÉÒ´É, {ÉÊ®úºÉÆºlÉÉ ªÉÉÆSªÉÉ ={ÉÎºlÉiÉÒ¨ÉÖ³äý ÊxÉºÉMÉÉÇ±ÉÉ VÉÒ ºÉVÉÒ´ÉºÉÞ¹]õÒSÉÒ ºÉ¨ÉÞrùiÉÉ ±ÉÉ¦ÉiÉä, iªÉÉ±ÉÉ ...........

a) Bioconservation b) Biodiversity c) Bioremediation d) Biotechnology
a) VÉè´ÉºÉÆ®úIÉhÉ b) VÉè´ÉÊ´ÉÊ´ÉvÉiÉÉ c) VÉè´É ={ÉÉªÉªÉÉäVÉxÉÉ d) VÉè´ÉiÉÆjÉYÉÉxÉ

62. All chromosomes are arranged parallel to equatorial plane of cell in ........... phase of mitosis.

ºÉÖjÉÒ Ê´É¦ÉÉVÉxÉÉSªÉÉ ......... +´ÉºlÉä̈ ÉvªÉä ºÉ´ÉÇ MÉÖhÉºÉÚjÉä {Éä¶ÉÒSªÉÉ Ê´É¹ÉÖ́ É´ÉÞkÉÒªÉ |ÉiÉ±ÉÉ±ÉÉ ºÉÆ̈ ÉÉiÉ®ú ºÉÆ®úÊSÉiÉ ½þÉäiÉÉiÉ.

a) Metaphase b) Anaphase c) Telophase d) Prophase
a) ¨ÉvªÉÉ´ÉºlÉÉ b) {É¶SÉÉ´ÉºlÉÉ c) +ÆiªÉÉ´ÉºlÉÉ d) {ÉÚ´ÉÉÇ´ÉºlÉÉ

63. Identify the incorrect statement (SÉÖEòÒSÉä Ê´ÉvÉÉxÉ +Éä³ýJÉÉ)
a) Oxygen is necessary for complete oxidation of glucose.
a) M±ÉÖEòÉäVÉSªÉÉ ºÉÆ{ÉÚhÉÇ +ÉìÎCºÉb÷ÒEò®úhÉÉºÉÉ`öÒ +ÉìÎCºÉVÉxÉ +É´É¶ªÉEò +É½äþ.

b) Sometimes, higher plants and animals too perform anaerobic respiration
b) EòvÉÒEòvÉÒ, =SSÉºiÉ®úÒªÉ ´ÉxÉº{ÉiÉÒ +ÉÊhÉ |ÉÉhÉÒ näùJÉÒ±É Ê´ÉxÉÉìCºÉÒ·ÉºÉxÉ Eò®úiÉÉiÉ.

c) Kreb`s cycle is also known as EMP pathway
c) Gäò¤ÉSªÉÉ SÉGòÉ±ÉÉ EMP ¨ÉÉMÉÇ +ºÉä½þÒ ¨½þhÉiÉÉiÉ.

d) ATP is called the energy currency of cell
d) ATP ±ÉÉ {Éä¶ÉÒSªÉÉ =VÉæSÉä SÉ±ÉxÉ ¨½þhÉiÉÉiÉ.

64. Who made an important contribution in discovery of triplet codons for 20 amino acids

20 +¨ÉÒxÉÉä +É¨±ÉÉÆºÉÉ`öÒ Ê]Åõ{±Éä]õ EòÉäb÷ÉìxÉ ¶ÉÉävÉhªÉÉiÉ ¨É½þk´É{ÉÚhÉÇ ªÉÉäMÉnùÉxÉ EòÉähÉÒ Ênù±Éä.

a) Beadle & Tatum b) H. G. Khorana
a) ¤ÉÒb÷±É +ÉÊhÉ ]õÉì]ṏ É b) BSÉ. VÉÒ. JÉÖ®úÉhÉÉ

c) Avery, McCarty, McLeod d) Mendel
c) B´½þ®úÒ, ¨ÉìEòEòÉlÉÔ, ¨ÉìC±ÉÉì<b÷ d) ¨Éåbä÷±É

BOTANY
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65. Match Column - I with Column - II. (ºiÉÆ¦É - 1 ±ÉÉ ºiÉÆ¦É - 2 ºÉ½þ VÉÖ³ý´ÉÉ.)

Column - I (ºiÉÆ¦É - 1) Column - II (ºiÉÆ¦É - 2)

1) Lactobacillus (±ÉìC]õÉä¤ÉìÊºÉ±ÉºÉ) a) Soya sauce (ºÉÉäªÉÉ ºÉÉìºÉ)

2) Rhizoblum (®úÉªÉZÉÉäÊ¤ÉªÉ¨É) b) Coagulation of milk protein (nÖùvÉÉiÉÒ±É |ÉÊlÉxÉÉÆSÉä C±ÉlÉxÉ)

3) Probiotics (|ÉÉä¤ÉÉªÉÉäÊ]õCºÉ) c) Acidophilus (+ìÊºÉb÷ÉäÊ¡ò±ÉºÉ)

4) Aspergillus oryzae (+ìº{É®úÊVÉ±ÉºÉ +Éä®úÉªÉZÉÒ) d) Nitrogen fixation (xÉÉªÉ]ÅõÉäVÉxÉ ÎºlÉ®úÒEò®úhÉ)
a) 1 – d, 2 – a, 3 – b, 4 – c b) 1 – a, 2 – b, 3 – c, 4 – d
c) 1 – b, 2 – c, 3 – a, 4 – d d) 1 – b, 2 – d, 3 – c, 4 – a

66. Statement – I : DNA sequence of each person is unique as that of the fingerprints.

Ê´ÉvÉÉxÉ - 1 : |ÉiªÉäEò ´ªÉCiÉÒSªÉÉ b÷Ò.BxÉ.B. SÉÒ VÉb÷hÉPÉb÷hÉ ½þÒ ¤ÉÉä]õÉÆSªÉÉ `ö¶ÉÉÆ|É¨ÉÉhÉäSÉ BEò¨Éä́ É +ºÉiÉä.

Statement – II : Identity of any person can be established with the help of it`s available DNA.

Ê´ÉvÉÉxÉ - 2 : EòÉähÉiªÉÉ½þÒ ´ªÉCiÉÒSÉÒ +Éä³ýJÉ iªÉÉSªÉÉ ={É±É¤vÉ b÷Ò.BxÉ.B. SªÉÉ ¨ÉnùiÉÒxÉä Eäò±ÉÒ VÉÉ>ð ¶ÉEòiÉä.

a) Statement I and II both are correct b) Statement I is correct but II is incorrect

a) Ê´ÉvÉÉxÉ 1 +ÉÊhÉ 2 nùÉäx½þÒ½þÒ ¤É®úÉä¤É®ú +É½äþiÉ b) Ê´ÉvÉÉxÉ 1 ¤É®úÉä¤É®ú +É½äþ {É®ÆúiÉÖ 2 SÉÖEòÒSÉä +É½äþ

c) Statement I is incorrect but II is correct d) Statement I and II are incorrect

c) Ê´ÉvÉÉxÉ 1 SÉÖEòÒSÉä +É½äþ {É®ÆúiÉÖ 2 ¤É®úÉä¤É®ú +É½äþ d) Ê´ÉvÉÉxÉ 1 +ÉÊhÉ 2 nùÉäx½þÒ½þÒ SÉÖEòÒSÉä +É½äþiÉ

67. When pollination involves only one flower or two flowers borne on same plant, it is called as –

VÉä́ ½þÉ {É®úÉMÉhÉÊGòªÉÉ BEòÉSÉ ¡Öò±ÉÉiÉ ËEò´ÉÉ BEòÉSÉ ZÉÉb÷ÉSªÉÉ nùÉäxÉ ¡Öò±ÉÉÆiÉ ½þÉäiÉä. iÉä́ ½þÉ iªÉÉºÉ ........... ¨½þhÉiÉÉiÉ.

a) Cross pollination b) Hybridization c) Self pollination d) Fertilization
a) {É®ú{É®úÉMÉhÉ b) ºÉÆEò®úÒEò®úhÉ c) º´É{É®úÉMÉhÉ d) ¡ò±ÉxÉ

68. Dough of bread becomes spongy due to
¥Éäb÷SÉä {ÉÒ`ö Eò¶ÉÉ¨ÉÚ³äý ¡ÚòMÉiÉä ?

a) Release of ethanol b) Release of CO2 c) Release of O2 d) Release of biogas
a) <lÉäxÉÉì±É ¤ÉÉ½äþ®ú {Éb÷±ªÉÉ¨ÉÚ³äý b) CO2 ¤ÉÉ½äþ®ú {Éb÷±ªÉÉ¨ÉÚ³äý c) O2 ¤ÉÉ½äþ®ú {Éb÷±ªÉÉ¨ÉÚ³äý d) ¤ÉÉªÉÉäMÉìºÉ ¤ÉÉ½äþ®ú {Éb÷±ªÉÉ¨ÉÖ³äý
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69. Identify the correct statement –

+SÉÚEò Ê´ÉvÉÉxÉ +Éä³ýJÉÉ.

a) Gametes are formed by meiosis
a) +vÉÇºÉÚjÉÒ Ê´É¦ÉÉVÉxÉÉxÉä ªÉÖM¨ÉEòÉÆSÉÒ ÊxÉÌ¨ÉiÉÒ ½þÉäiÉä.

b) In mitosis, chromosome number is reduced to half
b) ºÉÖjÉÒÊ´É¦ÉÉVÉxÉÉ¨ÉvªÉä MÉÖhÉºÉÚjÉÉÆSÉÒ ºÉÆJªÉÉ ÊxÉ¨ªÉÉ´É®ú ªÉäiÉä.

c) Gametes are diploid
c) ªÉÖM¨ÉEò ÊuùMÉÚhÉÒ +ºÉiÉÉiÉ.

d) Asexual reproduction always occurs with the help of two germ cells
d) +±ÉéÊMÉEò |ÉVÉxÉxÉ xÉä½þ¨ÉÒ nùÉäxÉ ªÉÖM¨ÉEòÉÆSªÉÉ ¨ÉnùiÉÒxÉä ½þÉäiÉä.

70. A molecule of glucose is oxidised step by step during glycolysis and produces –

M±ÉÖEòÉäVÉ Ê´ÉPÉ]õxÉÉ nù®ú¨ªÉÉxÉ M±ÉÖEòÉäVÉSÉÉ BEò ®äúhÉÖ ]õ{{ªÉÉ]õ{ªÉÉxÉä Ê´ÉPÉ]õÒiÉ Eäò±ÉÉ VÉÉiÉÉä +ÉÊhÉ ......... iÉªÉÉ®ú ½þÉäiÉÉiÉ.

a) 2 molecules of pyruvic acid, 2ATP, 2NADH2 b) 2 ATP, 4NADH2
a) {ÉÉªÉ¯ûÊ´ÉþEò BìÊºÉb÷SÉä 2 ®äúhÉÚ, 2ATP, 2NADH2 b) 2 ATP, 4NADH2

c) 2 molecules of pyruvic acid, 2ATP d) 2 molecules of pyruvic acid, 2 NADH2
c) {ÉÉªÉ¯ûÊ´ÉEò BìÊºÉb÷SÉä 2 ®äúhÉÚ, 2ATP d) {ÉÉªÉ¯ûÊ´ÉEò BìÊºÉb÷SÉä 2 ®äúhÉÚ, 2 NADH2

71. Which of the following microorganisms are used as biofertilizers –

JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiÉä ºÉÚI¨ÉVÉÒ´É VÉè́ É JÉiÉä ¨½þhÉÚxÉ ´ÉÉ{É®ú±Éä VÉÉiÉÉiÉ.

a) Lactobacillus, Pseudomonas, Aspergillus b) Acetobacter, Penicillium, Rhizobium
a) ±ÉèC]õÉä¤ÉìÊºÉ±ÉºÉ, ºªÉÚb÷Éä̈ ÉÉäxÉÉºÉ, Bìº{É®úÊVÉ±ÉºÉ b) BìÊºÉ]õÉä¤ÉìC]õ®ú, {ÉäÊxÉÊºÉÊ±ÉªÉ¨É, ®úÉªÉZÉÉäÊ¤ÉªÉ¨É

c) Rhizobium, Azatobacter, Nostoc d) Saccharomyces, Lactobacillus, Anabaena
c) ®úÉªÉZÉÉäÊ¤ÉªÉ¨É, +ìZÉÉ]õÉä¤ÉìC]õ®ú, xÉÉäº]õÉäEò d) ºÉìEìò®úÉä¨ÉÉ<ºÉäºÉ, ±ÉìC]õÉä¤ÉìÊºÉ±ÉºÉ, +ìxÉÉ¤ÉäxÉÉ

72. Information about protein synthesis is stored in the ...........

|ÉÊlÉxÉä ºÉÆ¶±Éä¹ÉhÉÉ¤Éqù±É ¨ÉÉÊ½þiÉÒ Eò¶ÉÉ¨ÉvªÉä ºÉÉ`ö´É±Éä±ÉÒ +ºÉiÉä ?

a) mRNA b) tRNA c) DNA d) Ribosomes
a) mRNA b) tRNA c) b÷Ò.BxÉ.B. ´É®úÒ±É VÉxÉÚEòÉÆ̈ ÉvªÉä d) ®úÉªÉ¤ÉÉäºÉÉä̈ ºÉ ¨ÉvªÉä
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73. In ETS, how many molecules of ATP are obtained from each NADH2 and FADH2 respectively

ETS ¨ÉvªÉä, |ÉiªÉäEò NADH2 +ÉÊhÉ FADH2 {ÉÉºÉÚxÉ ATP SÉä ÊEòiÉÒ ®äúhÉÚ +xÉÖGò¨Éä Ê¨É³ý´É±Éä VÉÉiÉÉiÉ.

a) 3 and 2 b) 2 and 3 c) 3 and 3 d) 2 and 2
74. Identify the incorrect statement –

SÉÖEòÒSÉä Ê´ÉvÉÉxÉ +Éä³ýJÉÉ.

a) Proteins of animal origin are called as ‘first class’ proteins
a) |ÉÉhªÉÉÆ{ÉÉºÉÚxÉ Ê¨É³ýÉ±Éä±ªÉÉ |ÉÊlÉxÉÉÆxÉÉ ‘|ÉlÉ¨É ¸ÉähÉÒ’ |ÉÊlÉxÉä ¨½þhÉiÉÉiÉ.

b) Amino acids are obtained after digestion of proteins
b) |ÉÊlÉxÉä {ÉSÉ±ªÉÉxÉÆiÉ®ú +Ê¨ÉxÉÉä +ìÊºÉb÷ Ê¨É³ýiÉÉiÉ.

c) The most abundant protein found in nature is Rubisco which is present in mitochondria
c) ÊxÉºÉMÉÉÇiÉ +Éfø³ýhÉÉ®äú ºÉ´ÉÉÇiÉ ¨ÉÖ¤É±ÉEò |ÉÊlÉxÉ ¨½þhÉVÉä ¯ûÊ¤ÉºEòÉä VÉä ¨ÉÉªÉ]õÉäEòÉìÎxbÅ÷ªÉÉ¨ÉvªÉä +ºÉiÉä.

d) Muscle cells also perform anaerobic respiration while performing exerciese
d) ´ªÉÉªÉÉ¨É Eò®úiÉÉxÉÉ ºxÉÉªÉÚ{Éä¶ÉÓ¨ÉvªÉä Ê´ÉxÉÉìCºÉÒ·ÉºÉxÉ ½þÉäiÉä.

75. Which of the following is not the event of mitosis ?

JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiÉÒ ºÉÖjÉÒÊ´É¦ÉÉVÉxÉÉSÉÒ PÉ]õxÉÉ xÉÉ½þÒ ?

a) Duplication of centriole b) Splitting of centromere
a) iÉÉÆ®úÉEåòpùÉSÉä ÊuùMÉÖÊhÉiÉ ½þÉähÉä b) MÉÖhÉºÉÚjÉË¤ÉnÚùSÉä Ê´É¦ÉÉVÉxÉ

c) Crossing over and recombination d) Synthesis of spindle protein
c) {ÉÉ®úMÉiÉÒ +ÉÊhÉ VÉxÉÖEòÉÆSÉä {ÉÖxÉ:ºÉÆªÉÉäMÉ d) ±É´ÉÊSÉEò |ÉÊlÉxÉÉÆSÉä vÉÉMÉä iÉªÉÉ®ú ½þÉähÉä

76. Ethanol, an alcohol is a clean fuel obtained during fermentation of molasses by the ..........

<lÉäxÉÉì±É, ½äþ BEò º´ÉSUô <ÆvÉxÉ +É½äþ VÉä ........... VÉä́ ½þÉ =ºÉÉSªÉÉ ¨É³ýÒSÉä ÊEòh´ÉxÉ Eò®úiÉä iÉä́ ½þÉ Ê¨É³ýiÉä.

a) bacteria lactobacillus b) fungi yeast
a) ±ÉìC]õÉä¤ÉìÊºÉ±ÉºÉ b) ºÉìEò®úÉä̈ ÉÉªÉÊºÉºÉ ÊEòh´É

c) bacteria bacillus d) fungi aspergillus
c) ¤ÉìÊºÉ±ÉºÉ VÉÒ´ÉÉhÉÚ d) +ìº{É®úÊVÉ±ÉºÉ
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77. Vegetative propagation in potatoes is performed by ....A.... and in Bryphyllum with the help of ....B....

¤É]õÉ]õ¬É¨ÉvÉÒ±É ¶ÉÉEòÒªÉ |ÉVÉxÉxÉ ½äþ ....A.... ¨ÉÚ³äý ´É {ÉÉxÉ¡Öò]õÒ¨ÉvªÉä ....B.... ¨ÉÚ³äý ¶ÉÉEòÒªÉ |ÉVÉxÉxÉ ½þÉäiÉä.
a) A – Buds on leaf margin, B – Eyes on tuber
a) A – {ÉÉxÉÉÆSªÉÉ Eòb÷ÉǼ É®úÒ±É ¨ÉÖEÖò±É, B – EÆònùÉ´É®úÒ±É b÷Éä³äý (¨ÉÖEÖò±É)
b) A – Eyes on tuber, B – Buds on leaf margin
b) A – EÆònùÉ´É®úÒ±É b÷Éä³äý (¨ÉÖEÖò±É), B – {ÉÉxÉÉÆSªÉÉ Eòb÷ÉǼ É®úÒ±É ¨ÉÖEÖò±É

c) A – Spore on tuber, B – Fragmentation in filament
c) A – EÆònùÉ´É®úÒ±É ¤ÉÒVÉÉhÉÚ, B – iÉÆiÉÚSÉä JÉÆb÷Ò¦É´ÉxÉ

d) A – Bud on node, B – Bud on tuber
d) A – JÉÉäb÷ÉǼ É®úÒ±É +ÆEÚò®ú, B – EÆònùÉ´É®úÒ±É ¨ÉÖEÖò±É

78. The system formed by biotic and abiotic factors and their interaction with each other is called –

VÉèÊ´ÉEò +ÉÊhÉ +VÉèÊ´ÉEò PÉ]õEò +ÉÊhÉ iªÉÉÆSÉÒ {É®úº{É®úÉÆ¶ÉÒ ½þÉähÉÉ®úÒ +ÉÆiÉ®úÊGòªÉÉ ½äþ ºÉ´ÉÇ Ê¨É³ÚýxÉ .......... iÉªÉÉ®ú ½þÉäiÉä.

a) Environment b) Ecosystem c) Hotspot d) Biodiversity
a) {ÉªÉÉÇ´É®úhÉ b) {ÉÊ®úºÉÆºlÉÉ c) VÉè´ÉÊ´ÉÊ´ÉvÉiÉÉ d) {ÉªÉÉÇ´É®úhÉ

79. Father / Pioneer of green revolution in India is ..........
¦ÉÉ®úiÉÉiÉÒ±É ½þÊ®úiÉ GòÉÆiÉÒSÉä VÉxÉEò ........... +É½äþiÉ.

a) Dr. Norman Borlaug b) Dr. H. G. Khorana
a) b÷Éì. xÉÉì̈ ÉÇxÉ ¤ÉÉä®ú±ÉÉìMÉ b) b÷Éì. BSÉ. VÉÒ. JÉÖ®úÉxÉÉ

c) Dr. M. S. Swaminathan d) Dr. R. K. Mishra
c) b÷Éì. B¨É. BºÉ. º´ÉÉÊ¨ÉxÉÉlÉxÉ d) b÷Éì. +É®ú. Eäò Ê¨É¸ÉÉ

80. ........... is the revolutionary event in biotechnology after cloning.

C±ÉÉäËxÉMÉxÉÆiÉ®ú VÉè́ ÉiÉÆjÉYÉÉxÉÉiÉÒ±É {ÉÖføÒ±É GòÉÆiÉÒEòÉ®úÒ PÉ]õxÉÉ ¨½þhÉVÉä .............. ½þÉäªÉ.

a) Organic farming b) DNA figerprinting c) Food Biotechnology d) Stem Cell reasearch
a) ºÉåÊpùªÉ ¶ÉäiÉÒ b) b÷Ò.BxÉ.B. Ë¡òMÉ®úË|ÉË]õMÉ c) +zÉ VÉè́ ÉiÉÆjÉ d) ¨ÉÚ±É{Éä¶ÉÒ ºÉÆ¶ÉÉävÉxÉ
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81. Life originated in

VÉÒ´ÉxÉÉSÉÒ =i{ÉkÉÒ .......... ¨ÉvªÉä ZÉÉ±ÉÒ.

a) Air b) Earth c) Water d) None of these
a) ½þ´ÉÉ b) {ÉÞl´ÉÒ c) {ÉÉhÉÒ d) ªÉÉ{ÉèEòÒ EòÉ½þÒ½þÒ xÉÉ½þÒ

82. What was the basic principle of Lamarckism ?

±Éä©ÉÉEò´ÉÉnù SÉä ¨ÉÚ³ý iÉi´É EòÉªÉ ½þÉäiÉä ?

a) Inheritance of acquired characters b) Survival of fittest
a) +ÊvÉOÉÊ½þiÉ ´ÉhÉÉÈSÉÉ ´ÉÉ®úºÉÉ b) ºÉºÉ´ÉÉÇªÉ´½þ±É +Éì¡ò Ê¡ò]äõº]õ

c) Natural selection d) Variation
c) xÉèºÉÌMÉEò ÊxÉ´Éb÷ d) iÉ¡òÉ´ÉiÉ

83. Male accessory glands includes

ªÉÉ{ÉèEòÒ EòÉähÉiªÉÉ {ÉȪ û¹É BìCºÉäºÉ®úÒ OÉÆlÉÓSÉÉ ºÉ¨ÉÉ´Éä¶É {ÉȪ û¹É |ÉVÉxÉxÉ |ÉhÉÉ±ÉÒ¨ÉvªÉä ½þÉäiÉÉä.

a) Paired seminal vesicle b) A prostate gland
a) VÉÉäb÷±Éä±Éä ºÉäÊ¨ÉxÉ±É ´ÉäÊºÉEò±É b) |ÉÉäº]äõ]õ OÉÆlÉÒ

c) Paired cowper`s gland d) All of these
c) VÉÉäb÷±Éä±Éä EòÉ={É®ú OÉÆlÉÒ d) ½äþ ºÉ´ÉÇ

84. Largest part of fallopian tube is

+Æb÷xÉÊ±ÉEòÉ ºÉ´ÉÉÇiÉ ¨ÉÉä̀ öÉ ¦ÉÉMÉ ........ +É½äþ.

a) Infundibulum b) Isthmus c) Ampulla d) Cervix
a) <x¡ÆòÊb÷¤ÉÖ±É¨É b) <ºlÉ¨ÉºÉ c) B¨{ÉÖ±ÉÉ d) MÉ¦ÉÉÇ¶ÉªÉ OÉÒ´ÉÉ

85. At which day in a normal human menstrual cycle there is rapid secretion of LH normally occurs ?
ºÉÉ¨ÉÉxªÉ ¨ÉÉxÉ´ÉÒ ¨ÉÉÊºÉEò {ÉÉ³ýÒiÉ EòÉähÉiªÉÉ Ênù´É¶ÉÒ LH SÉÉ VÉ±É ºjÉÉ´É ½þÉäiÉÉä ?

a) 5th day b) 4th day c) 14th day d) 20th day
a) 5 ´ÉÉ Ênù´ÉºÉ b) 4 lÉÉ Ênù´ÉºÉ c) 14 ´ÉÉ Ênù´ÉºÉ d) 20 ´ÉÉ Ênù´ÉºÉ

ZOOLOGY
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86. IVF technique includes.

IVF iÉÆjÉÉSÉÉ ºÉ¨ÉÉ´Éä¶É +É½äþ.

a) GIFT b) AI c) IUT d) All the above (ºÉ´ÉÇ)

87. Diversity to different species in a range of habbits within a geographical area is called

¦ÉÉèMÉÉäÊ±ÉEò IÉäjÉÉ¨ÉvªÉä +Éfø³ýhÉÉ­ªÉÉ ºÉVÉÒ´ÉÉÆSªÉÉ +ÉvÉÉ®äú VÉèÊ´ÉEò Ê´ÉÊ´ÉvÉiÉä±ÉÉ .......... ¨½þhÉiÉÉiÉ.

a)  diversity b)   diversity c)    diversity d)   diversity

a)   Ê´ÉÊ´ÉvÉiÉÉ b)   Ê´ÉÊ´ÉvÉiÉÉ c)    Ê´ÉÊ´ÉvÉiÉÉ d)   Ê´ÉÊ´ÉvÉiÉÉ

88. A complete digestive system has .........

ºÉÆ{ÉÚhÉÇ {ÉSÉxÉºÉÆºlÉä̈ ÉvªÉä .............. +ºÉiÉä.

a) Single opening that serves as both mouth and anus
a) BEò±É =PÉb÷hÉä VÉä iÉÉåb÷ +ÉÊhÉ MÉÖqù´ÉÉ®ú nùÉäx½þÒºÉÉ`öÒ EòÉ¨É Eò®úiÉä.

b) Two openings, one as mouth and other as anus
b) nùÉäxÉ =PÉb÷hÉä, BEò iÉÉåb÷ ¨½þhÉÚxÉ +ÉÊhÉ nÖùºÉ®äú MÉÖqù´ÉÉ®ú ¨½þhÉÚxÉ EòÉ¨É Eò®úiÉä.

c) Single opening that acts as mouth only
c) BEò±É =PÉb÷hÉä VÉä Eäò´É³ý iÉÉåb÷ ¨½þhÉÚxÉ EòÉªÉÇ Eò®úiÉä.

d) Two openings, both act as mouth as well as anus
d) nùÉäxÉ =PÉbä÷, nùÉäx½þÒ iÉÉåb÷ iÉºÉäSÉ MÉÖqù´ÉÉ®ú ¨½þhÉÚxÉ EòÉ¨É Eò®úiÉÉiÉ.

89. Coelenterates are ............

EòÉä±Éå]õ®äú]ÂõºÉ .............. +É½äþ.

a) Asymmetric animals b) Radially symmetrical animals
a) +ºÉ¨ÉÊ¨ÉiÉ |ÉÉhÉÒ b) ÊjÉVªÉÉ ºÉ¨ÉÊ¨ÉiÉÒªÉ |ÉÉhÉÒ

c) Bilaterally symmetrical animals d) Spherically symmetrical animals
c) Êuù{ÉIÉÒ ºÉ¨ÉÊ¨ÉiÉÒªÉ |ÉÉhÉÒ d) MÉÉä±ÉÉEòÉ®ú ºÉ¨ÉÊ¨ÉiÉÒªÉ |ÉÉhÉÒ
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90. The chitinous exoskeleton is possessed by

EòÉ<Ê]õxÉºÉ ¤ÉÉÁºÉÉÆMÉÉb÷ÉSÉÉ Eò¶ÉÉ´É®ú iÉÉ¤ÉÉ +ºÉiÉÉä.

a) Annelids b) Arthropods c) Molluscs d) Echinoderms
a) BìxÉäÊ±ÉbÂ÷ºÉ b) +ÉmÉÉæ{ÉÉìbÂ÷ºÉ c) ¨ÉÉä±ÉºEò d) BÊEòxÉÉäb÷¨ºÉÇ

91. Cylindrical bodied, worm-like marine animals belong to the phylum:

¤Éä±ÉxÉÉEòÉ®ú ¶É®úÒ®úÉSÉä, ÊEòb÷¬ÉºÉÉ®úJÉä ºÉÉMÉ®úÒ |ÉÉhÉÒ EòÉähÉiªÉÉ Ê¡ò±É¨ÉSÉä +É½äþiÉ.

a) Echinodermata b) Mollusca c) Coelenterata d) Hemichordata
a) BÊEòxÉÉäb÷¨ÉÉÇ]õÉ b) ¨ÉÉä±ÉÖºEòÉ c) EòÉä±Éå]õ®äú]õÉ d) ½äþÊ¨ÉEòÉäb÷ÉÇ]õÉ

92. The correct classification of Ascidia is ........

BìÊºÉÊb÷ªÉÉ SÉä ªÉÉäMªÉ ´ÉMÉÔEò®úhÉ ......... +É½äþ.

a) Chordata   Protochordata   Vertebrata b) Chordata   Protochordata   Cephalochordata
a) EòÉìb÷ÉÇ]õÉ  |ÉÉä]õÉäEòÉìb÷ÉÇ]õÉ  {ÉÞ¹`ö´ÉÆ¶ÉÒ b) EòÉìb÷ÉÇ]õÉ   |ÉÉä]õÉäEòÉìb÷ÉÇ]õÉ   ºÉä¡ìò±ÉÉäEòÉìb÷ÉÇ]õÉ

c) Chordata   Cephalochordata   Vertebrata d) Chordata   Protochordata   Urochordata
c) EòÉìb÷ÉÇ]õÉ   ºÉä¡ìò±ÉÉäEòÉìb÷ÉÇ]õÉ  {ÉÞ¹`ö´ÉÆ¶ÉÒ d) EòÉìb÷ÉÇ]õÉ   |ÉÉä]õÉäEòÉìb÷ÉÇ]õÉ   ªÉÖ®úÉäEòÉìb÷ÉÇ]õÉ

93. Heart in amphibians is

=¦ÉªÉSÉ®úÉÆ̈ ÉvªÉä ¾þnùªÉ ........... +ºÉiÉä.

a) Two-chambered with one auricle and one ventricle
a) BEò +ÉìÊ®úEò±É +ÉÊhÉ BEò ´ÉåÊ]ÅõEò±É +ºÉ±Éä±Éä nùÉäxÉ - SÉå¤É®ú

b) Three-chambered with two auricles and one ventricle
b) nùÉäxÉ +ÉìÊ®úEò±ºÉ +ÉÊhÉ BEò ´ÉåÊ]ÅõEò±É +ºÉ±Éä±Éä iÉÒxÉ-SÉå¤É®ú

c) Three-chambered with one auricle and two ventricles
c) BEò +ÉìÊ®úEò±É +ÉÊhÉ nùÉäxÉ ´ÉåÊ]ÅõEò±ºÉ +ºÉ±Éä±Éä iÉÒxÉ-SÉå¤É®ú

d) Four-chambered with two auricles and two ventricles
d) nùÉäxÉ +ÉìÊ®úEò±É +ÉÊhÉ nùÉäxÉ ´ÉåÊ]ÅõEò±ºÉ +ºÉ±Éä±Éä SÉÉ®ú-SÉå¤É®ú
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94. Cyclostomata belongs to which division?

ºÉÉªÉC±ÉÉäº]õÉä̈ ÉÉ]õÉ EòÉähÉiªÉÉ Ê´É¦ÉÉMÉÉiÉÒ±É +É½äþ ?

a) Pisces b) Agnatha c) Acraniata d) Tetrapoda
a) ¨ÉÒxÉ b) +ÉMÉxÉÉlÉÉ c) BìGäòÊxÉB]ÂõºÉ d) ]äõ]ÅõÉ{ÉÉäb÷É

95. A mammal which lays eggs instead of giving birth to offspring is

BEò ºÉºiÉxÉ |ÉÉhÉÒ VÉÉä ºÉÆiÉiÉÒ±ÉÉ VÉx¨É näùhªÉÉB´ÉäVÉÒ +Æb÷Ò PÉÉ±ÉiÉÉä.

a) Rabbit b) Macropus c) Duck-billed platypus d) Whale
a) ºÉºÉÉ b) ¨ÉìGòÉä{ÉºÉ c) ¤ÉnùEò-Ê¤É±É {±ÉìÊ]õ{ÉºÉ d) ´½äþ±É

96. Point out the mammalian characters

ºÉºiÉxÉ |ÉÉhÉÒSÉä ´ÉhÉÇxÉ nù¶ÉḈ ÉÉ.

a) Diaphragm, three-chambered heart, lungs b) Hairy skin, viviparity, feathers
a) b÷ÉªÉ£òÉ¨É, iÉÒxÉ SÉå¤É®úSÉä ¾þnùªÉ, ¡Öò}¡ÖòºÉ b) EäòºÉÉ³ý i´ÉSÉÉ, Ê{É±±Éä VÉx¨ÉÉ±ÉÉ PÉÉ±ÉhÉÉ®äú, Ê{ÉºÉä

c) Fins, gills, viviparity d) Neural gland, gills, four-chambered heart
c) {ÉÆJÉ, ÊMÉ±ºÉ, Ê{É±±Éä VÉx¨ÉÉ±ÉÉ PÉÉ±ÉhÉÉ®äú d) ¨ÉVVÉÉiÉÆiÉÚ OÉÆlÉÒ, ÊMÉ±ºÉ, SÉÉ®ú-EòIÉÉÆSÉä ¾þnùªÉ

97. The statement Omnis cellula e cellula, which means all cells arise from pre-existing cells was given by

+ÉäÎ¨xÉºÉ ºÉä±ªÉÖ±ÉÉ <Ç ºÉä±ªÉÖ±ÉÉ, VªÉÉSÉÉ +lÉÇ ºÉ´ÉÇ {Éä¶ÉÒ +ÉvÉÒ{ÉÉºÉÚxÉ +ÎºiÉi´ÉÉiÉ +ºÉ±Éä±ªÉÉ {Éä¶ÉÓ{ÉÉºÉÚxÉ ÊxÉ¨ÉÉÇhÉ ½þÉäiÉÉiÉ +ºÉä EòÉähÉÒ ºÉÉÆÊMÉiÉ±Éä.

a) Rudolf Virchow b) Schleiden
a) ¯ûb÷Éì±¡ò Ê´ÉSÉÉæ b) ¶±Éäbä÷xÉ

c) Robert Brown d) Anton Von Leeuwenhoek
c) ®úÉì¤É]Çõ ¥ÉÉ=xÉ d) +Ä]õÉäxÉ ´ÉÉìxÉ ±ÉÒ=´ÉäxÉ½þÉìEò

98. Which of the following toxic substance is responsible for the chill and high fever recurring every three
to four days in malaria?

¨É±ÉäÊ®úªÉÉ¨ÉvªÉä VÉ®ú iÉÒxÉ SÉÉ®ú Ênù´ÉºÉ lÉÆb÷Ò ´ÉÉVÉÚxÉ VÉÉºiÉ iÉÉ{É ªÉäiÉ +ºÉä±É iÉ®ú JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiÉÉ Ê´É¹ÉÉ®úÒ {ÉnùÉlÉÇ VÉ¤ÉÉ¤ÉnùÉ®ú +É½äþ ?

a) Haemotoxin b) Haemoglobin c) Haemozoin d) Sporozoites
a) ½äþ¨ÉÉä]õÉìÎCºÉxÉ b) Ê½þ¨ÉÉäM±ÉÉäÊ¤ÉxÉ c) Ê½þ¨ÉÉäZÉÉ ä<xÉ d) º{ÉÉä®úÉäZÉÉä<]ÂõºÉ



PCB - 23 NEET (State)

Space for Rough work

99. In which of the following disorder, the alveoli get filled with fluid leading to severe problems in respira-
tion?

JÉÉ±ÉÒ±É{ÉèEòÒ EòÉähÉiªÉÉ Ê´ÉEòÉ®úÉiÉ, +±´½þÉä±ÉÒ pù´ÉÉxÉä ¦É®ú±ÉÒ VÉÉiÉä. VªÉÉ¨ÉÖ³äý ·ÉÉºÉÉäSUố ÉÉºÉÉiÉ MÉÆ¦ÉÒ®ú ºÉ¨ÉºªÉÉ ÊxÉ¨ÉÉÇhÉ ½þÉäiÉÉiÉ ?

a) Common cold b) Whooping cough c) Diphtheria d) Pneumonia
a) ºÉÉ¨ÉÉxªÉ ºÉnùÔ b) b÷ÉÆMªÉÉ JÉÉäEò±ÉÉ c) Êb÷{lÉÒÊ®úªÉÉ d) xªÉÚ¨ÉÉ äÊxÉªÉÉ

100. Typhoid fever could be confirmed by ............

Ê´É¹É¨ÉV´É®úÉSÉÒ {ÉÖ¹]õÒ ............. uùÉ®äú Eäò±ÉÒ VÉÉ>ð ¶ÉEòiÉä.

a) Widal test b) Mantoux test c) Schick test d) Dick test
a) ´ÉÉ<b÷±É SÉÉSÉhÉÒ b) ¨ÉìxÉ]õÉìCºÉ SÉÉSÉhÉÒ c) Ê¶ÉEò SÉÉSÉhÉÒ d) Êb÷Eò SÉÉSÉhÉÒ
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